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ﬁ i i d[A]/dt = Up*Ka - dpA*[A]
d[mE,J/dt = pg; + (rgy * ([AIMEY(Kgp)™™) ) 1 (1 + ([A]"EYKE, ")) -
- Omeg * [ME4]

M" dlE.J/dt  =lg*[ME,] - dg *[E4] - ke*[E ]*[Eo] + K e*[E4E)]

. dBYdt = ug*ks - d5*[B]
: dImE,J/dt = pg, + (rex * ([B]"e2/(Kg2)"82) ) / (1 + ([B]"e2/(Kgp)"E2)) -
— - Oinez * [MEy]
i dlE)/dt  =l1g*[MEy] - dey™[Ey] - Ke*[E]*[Eo] + Kg*[EqEo] +

+ Keaet“[E1Eo]
d[E.E;Jdt = Ke*[Ei]*[Eo] — Ke*[E1Es] - Keaae*[E1E] - derer * [E1ES]
d[Eqacd/dt = Kepae*[EaEo] - deract * [Eiacd
d[mOQut]/dt = pOut - dmOut * [mOut] +

(rOut * ((Egac)™"(Koud™") ) / (1 + ((E1ac)""(Kow)"™™))
d[Out])/dt =I5, *[MOut] - d,*[Out];
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AND — 1 (simulation results)
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d[Al/dt = u K, - d,*[A] - Kag* ([ATF[B])™E + K o, *[AB]™8

dIBl/dt = Ug*kg - dg*[B] - Kag*([AT*[B)™® + k g *[AB]2

dIABY/dt = Kng*([AT*[B])™® - k 5g*[AB]™8 - d,,*[AB]

d[MOut]/dt = po + oy * (TABI™OU/(Ko,)™) ) / (1 + ([AB]OU/(K ) ™0)) — d_ . * [mOut]
d[out)/dt =1, *[mOut] - d, *[Out]
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D — 2 (simulation results)
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